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determine residential status of an individual as per

(6)

871

1. @ Explain the provisions to
gsection 6 of the Act.

(b) Following are the incomes of Ms. Radhika for the previous year 2023-24.

Income from house property situated in C

deposited in a bank in Canada and balance remitted

income from shares held in Nestle India Co.

Interest received from Mr. Andrew,
provided to him for a business carried on in India

You are required to compute

(i) Her taxable income if she 18 ROR, NOR, or NR.

(i) Her tax liability being ROR under new tax regime. (12)

OR

Number (PAN)? State any siX {ransactions where

(6)

(a) What is Permanent Account
quoting of PAN is mandatory-

(b) Mr Raman Ray, an Indian Citizen left India, first time on 21" September
at in Japan. He came back to India on

2023, for the purpose of employme
30 March 2024 for a visit and again retumed-back to Japan after stayling -
for 25 days in India. He submitted his income details as given below for the

previous year 2023-24 "

a. Salary earned in Japan Rs. 1000000 and credited in @ bank account

in Japan.

b. Interest received on fixed deposits 10 Canara Bank in India Rs. 150000.

c. Rent from @ property in Vadodara received in India RS. 600000
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d. Interest of a sum of Rs. 50000 on Japan’s Govt. Bonds. Half interest
is received in India.

(i) From the above information determine his residential status and
incidence of tax for the Assessment Year 2024-25.

(i) Will your answer be changed if Mr. Ray left India on October 1,
20237 If yes, then explain. (12)

2. (a) Explain the tax treatment of Leave Salary at the time of retirement under the
head ‘Income from Salaries’. (6)

(b) Ms. Asha (agé 50 years) is employed in ABC Textiles Ltd as an Accounts
Officer. She furnishes you the following details for the year ended 31st
March, 2024 :

SN Particulars Amount (Rs.)

1.. | Basic salary as on 01/04/2023 55000 pm
Increment w.e.f. 01/11/2023 Rs. 10000 pm

2. | D.A. (forming a part of retirement benefits) 40% of basic

3. | Bonus (paid on Diwali in the month of November) 70000

4. | Employer contribution to Recognized Provident Fund (RPF), equal 12000 pm
amount is also contributed by Ms. Asha

5. | Interest credited on the accumulated balance of RPF @ 11% p.a. 33000

6. | Medical Allowance 5000 pm

7. | Children Education Allowance (for two children) 1000 pm

8. | House Rent Allowance 16000 pm

(She pays rent of Rs. 18000 pm in Meerut)

9. | Car facility of 1.6 litres (1600CC) engine capacity is provided to her
by employer. The running expenses of the car are met by employer
company.

10. | Employer company sold following assets to her on 12/01/2024 as below

Particulars Computer Refrigerator
Cost of the asset (to employer) Rs.60000 Rs. 20000
Date of purchase of the assets 01/04/2020 01/04/2020
Sale price Rs. 10000 Rs. 80000

P1.O.
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g she opted for

(12)

Compute her-taxable income under the head salaries, assumin

old tax regime.

OR

alized rent while computing ‘gross annual

ons of unre
nt realization in future. (6)

(a) Elaborate the provisi
perty, and its subseque

value’ of a house pro
Ltd. at Pune and covered under Payment
1% December 2023 (age of 60 years) after
rvice. At the time of retirement, he
commute his 80% of

(b) Mr. Balram, an employee of PK

of Gratuity Act, 1972, retires on
ears and 7 months of s€
n of Rs. 40000 pm. He opts to
900000 on 1% February 2024. The employer also pays
Rs. 500000 as accumulated balance of
you the following details for

completing 34y
is entitled to @ pensio
pension for Rs.

Rs. 2051640 as Gratuity and
dent Fund. He also furnishes

1st March 2024 .

Recognised Provi
the year eqded 3

Amount (in Rs)

0000 pm

20000 pm
5000 pm
2000 pm
110000

15000 pm

House Rent Allowance

Rent paid by Mr Balram Rs 12000 pm in Pune

am for the assessment year

(12)
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3. (a) Discuss the provisions of section 44AE of the Income Tax Act, 1961 regarding
the computation of income on estimated basis in case of taxpayers engaged

in the business of plying hiring or leasing of goods carriage. (6)

(b) Mr Ashish (45 years), a resident individual, provides management consultancy
services to various corporate and non-corporate clients. He furnishes the

following information for the previous year 2023-24 :

Profit and Loss Account (as on 31/03/2024)

Particulars Amount Particulars Amount

Purchases 200000 | Sales 1500000
Salary, Bonus, Commission 200000 | Refund of Income Tax 25000
Household expenditure 2500 Gift received from father 20000
Advertisement expenses 100000
Office & Administrative Expenses 15000
Travelling & conveyance expenses 40000
Income Tax paid 9000
Provision for bad and doubtful debts 2000
Insurance Premium 66500
Interest on loan 15000
Depreciation on assets 45000
Staff Welfare Expenses 10000
Purchase of a Neon Sign Board 40000
Net Profit 800000

Total 1545000 Total 1545000

LD,
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Additional Information :

(i) Salary, Bonus and Commission included-
Rs. 50000. His brother is

(a) Salary paid to brother of Mr. Ashish-

not holding requisite'quaﬁﬁcation for that job.

yees on 16t November 2024-

(b) Bonus paid to emplo

Rs. 30000

Rs. 25000 without deducting

(c) Salary paid to a non-resident -

TDS

(i1) Advertisement expenditure included a payment of Rs. 40000 paid

through cash.

f Rs. 2000 spent on Diwali

(iii) Staff welfare expenses include a sum O

office for the welfare of staff only.

celebration in the

2 on all assets including sign

(iv) Depreciation computed under section 3

board- Rs. 40000.

surance Premium - Rs. 56000 on

(v) Insurance Premium included Life In

Mr. Ashish life.

ish for assessment year 2024-25

Compute Business Income of Mr Ash
assuming he does not want to opt for the Default Regime and due date of
(12)

filing of return is 31/07/2024.
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(a)

(b)

7
OR

Mr. A is the owner of two buildings (A and B) which are used by him for
his own business. The written down value of the above buildings is
Rs. 1000000 on 1+ April 2023 and the rate of depreciation allowed is 10%.
He purchased two buildings (C and D) of same rate of depreciation,

information given below :

Building C on 1 August 2023 for Rs. 200000 (date of ‘put to use’ 15®

August 2023)

Building D on 1** December 2023 for Rs. 500000. (date of ‘put to use’
I** January 2024) and sold building A on 27® February 2024 for

Rs. 600000.

Calculate the allowable depreciation for A.Y. 2024-25 under section 32 of

the Act. . 6)

Mr. X (50 years) owns three independent houses during the
previous year 2023-24. He submitted following details of the house

properties.

PTO.
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mm
01/09/2022

Date of construction 01/04/2005 01/06/2015

Municipal Value 800000 850000 930000
Fair Rental Value 850000 920000 960000

Standard Rent “ 900000
R EE . TIEL

Unrealized Rent (2023-24)

Municipal taxes paid by Mr. X
Municipal taxes paid by tenant
| Loan taken to construct the property

Rate of interest on loan (per annum)
—of

Date of repayment loan

Calculate taxable income of Mr. X if he has income from salary Rs. 650000
(computed), interest on saving bank account Rs. 34000 and invested
Rs. 40000 in Sukanya gamridhhi Account during the previous year. He opted

(12)

old tax regime.

4. (a) Explain the provision of clubbing of income in respect of spouse’s income

and minor child’s income under section 64(1A) of the Act. (6)
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(b) Mr. X furnished following details on capital assets transferred by him during

the previous year 2023-24,

Particulars Urban Land Gold Debentures
Date of Purchase - 20/02/1998 10/10/2021 13/07/2018
Cost of Acquisition 600000 400000 200000
Fair Market Value (as on 01/04/2001) 1050000 - -

Cost of improvement (Feb. 2001) 100000

Sale Consideration 4000000 900000 450000
Date of transfer 05/06/2023 07/09/2023 01/02/2024
Stamp value of Urban Land 4450000 - -
Expense on transfer 50000 5000 10000

Mr. X bought a new house on 01/01/2024 of Rs. 3500000 and bought

REC bonds (redeemable after 5 years) Rs. 500000 in special capital gain

account on 03/08/2024. Compute taxable capital gains for the assessment

year 2024-25.

Year 2001-02 2018-19 | 2021-22 | 2023-24
ClI 100 280 317 348

OR

(12)

(a) Explain provisions on exemption under section 54B in respect of capital gain

arising on agriculture land.

(6)

PT.O,
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er the head capital gains in the following transferred

(b) Compute income und

durin

g the previous year 2023-24.
s will on

in year 2009-10 for

(i) Mr. A
1/09/2013 was

01/09/20 1
reement with Mr.

Rs. 500000. F
Rs. 900000. His father came into an ag
Rs. 300000 on 01/
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05/2012
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therefore th
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00000 forfeited b

finalize and Rs. 5
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3. At the time of transfer these shares W
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5. (a) Calculate the amount of deduction under section 80D on the following

payments made by Mr. Ram (age 55 years) during the previous year 2023-

L

24, under old tax regime.
(i) Medical insu-rance premium of Rs. 35000 on himself,
(ﬁ) Medical insurance premium of Rs. 15000 on his spouse.
(iii) Medical insurance premium of Rs. 40000 cachlon his both parents

(senior citizens). (6)

(b) Mr. Z (45 years) submitted his income/investments details pertaining to
previous year 2023-24 as follows :

(i) Income from salaries (computed) Rs. 760000
(i) Income from house properties (computed) 4 Rs. 350000
(iii) Interest on bank deposits (net of TDS @ 10%) Rs. 270000
(iv) Interest on saving banks account. ' Rs. 5000
(v) Gift received from his father on marriage anni'versary Rs. 51000
(vi) Gift from his five friends on birthday Rs. 60000

(vii) A silver chain bought from his friends Rs. 350000
fair market value of the silver chain is Rs. 370000.

(viii) Winning from lotteries (net of TDS @ 30%) Rs. 14000

(ix) Insurance premium for own life (sum assured
Rs. 500000) Rs. 30000

Compute his net taxable income and tax liability for the assessment year

2024-25 under old tax regime. (12).
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OR

(a) Explain following provisions :
(i) Contribution to Agnipath Scheme (Section 80CCH)

(ii) Interest on Deposits in case of senior citizens (Section 80TTB)

(6)

(b) MrY (63 years) furnished his income/investments details here under for the
previous year 2023-24. You are required to compute his tax liability for the

A.Y. 2024-25 under old tax regime.

SN | Particulars Amount (Rs.)
i Salary income (computed) 980000
2. Loss from.house property (computed) !
3. Interest on deposits (gross)
4. Interest on debentures (gross)
5. | Winnings from lottery (net of TDS @30%)
—6‘_—” Loss from winnings lottery
¢k Long-term capital gains on sale of land \ 120000
8 Loss on long-term capital gains on sale of gold \ -45000
9 Medical insurance premium !
Contribution 0 Public Provident Fund

(12)
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1. (a) State with reasons whether_ the following statements are true or false (any
six).

(1) Relevance is one of the quantitative characteristics of the financial
statements. '

(i) Provisions can’t be made when a reliable estimate of the amount can’t
be made.

(iii) Contingent items are always probable items.

(iv) The convention of materiality recommends that there should be full,
fair, and adequate disclosure of the financial information.

(v) Input IGST can be utilized to offset the outstanding liabilities of output
IGST before output CGST and SGST, respectively.

(vi) Loss due to fire is an extraordinary item.
(vii) Accounting concepts and accounting conventions are not different.

(vii) Prior period items are those that are occurred and got settled in the
past. : k (6x2=12)

.

(b) Write short note on any two :
() Generally Accepted Accounting Principles (GAAP).
(i) Adjusting events vs. Non-adjusting events.

(iii) AS vs. IND-AS. _ : (2x3=6)

2. (a) Define the term Inventory as per AS 2. Also, explain the significance of
inventory valuation. : (6)

(b) A trader imported a machine on 1* July 2016 for ¥4,00,000, paid custom
duty and freight 80,000 and incurred erection charges 1,20,000. Another
machinery costing 22,00,000 was purchased from the local market on J anuary

"1, 2017. On 1 July 2018, one-third of the imported machine got out of
order and was sold for ¥80,000. Another machine was purchased to replace
the same for 21,00,000 on the same date. Depreciation is to be calculated
at 20% per annum on the straight line method. :

Accounts are closed each year on 31% December. You are required to show
the Machinery Account for 2016, 2017, and 2018. (12)
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OR

(@) Explain the terms (i) Cost of asset, (ii) Residual value of assets, and (iii)

" Depreciable amount. (6)

(b) The following are the details of the material with respect to certain items of
M/s. Sonia & Co.: |

Date - Particulars | Units and Cost per unit
01.01.2023 Opeﬂing Stock 100 units (@ Z 35 per unit
05.01.2023 Purchases 300 units @ ¥ 30 per unit
15.01.2023 Sales 100 units @ % 40 per unit
01.02.2023 | Purchases- 400 units @ X 35 per unit
10022023 | Lossbyfire | 20units
15.02.2023 | Sales 180 units @ % 50 per unit

©20.02.2023 | Sales 200 units @ T 50 per unit
20.02.2023 | Purchases 300units @ ¥ 50 per unit

Using the perpetual Inventory valuation system, find out the cost of closing
stock and cost of goods sold as on 20.02.2023 according to the FIFO
Method. (12)

3. (a) From the following Trial Balance of a trader on March 31, 2021, prepare
Trading and Profit and Loss Account for the year ended 31* March 2021

and Balance Sheet as on that date:

PO
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[ Debit Batance ® Credit Balances & |
Drawings 12,000 Bank Overdraft 50,000
Wages 31,000 Interest on Investment 11,600
Stock 25,600 | Bills Payable 9,200
Loan to X 8,000 Interest on Loan to X 640
Rent 10,000 Capital 2,00,000
General Expenses 2,960 gﬁfgt‘;j g);b?sad A 500
Investments 1,20,OOUI Sales 4.60,000
Purchases 3,20,000 | Sundry Creditors _ 25,180
Freight and Carriage 4,200 S
Goodwill 80,000 -
Bills Receivable 12,400
Rates and Taxes 3,600
Sales Return " 4,200
Insurance 1,800
Cash and Bank Balance 7,400
Debtors 33,000
l_’ostage & Telegram 7,600
Land and Building 50,000
Plant and Machinery 20,000
Packing Charges 800
Bad Debts 2560
7,587,120 7,57,120

Additional Information :

(i) Closing Stock as on 31.03.2021 - 232,000.

(i1) Goods worth 21,400 were sent on 25.03.2021 as
Basis” for 1600, and approval was not received b

month.

(iii) 20% of the goodwill is to be written off.

“Sale on approval
efore the end of the

(iv) Further bad debts were estimated at ¥700, and the reserve for bad
debts increased to the extent of ¥3,000.
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I (v) Depreciate land and building by 3% and plant and machinery by 10%.
(vi) Goods worth 1,600 were distributed as free samples. (12)

(b) M/s Vinod Enterprise has a sum of 60,000 on account of an input tax
credit of SGST in the electric credit ledger. The output GST payable as per
the electronic liability register is as under :

GST Payable/OQutput GST 4
Outward IGST ' 30,000
Outward CGST 70,000
Outward SGST 25,000
Determine the order of utilization of ITC on account of SGST and prepare
the statement showing the amount due, adjusted, and payable. (6)
OR

(a) The following is the receipt and payment account of Dipankside Club for the
year ended 31% March 2020:

Receipt and Payment Account for the Year ending 31% March, 2020

Receipts Z Payments L4
Cash (1-04-2019) 45,000 | Bank Overdraft (1-04-2019) 93,000
Subscriptions Sofa purchased on (104-2019) | 43,500
Honorarium 90,000
2018-2019 9,000 = ;
2019-2020 4,86,000 Salaries 87,000
2020-2021 4,500 4.99,500 Sundry Expenses 99,000
Donations 8,700 | Drama Expenses 26,700
Life Membership Fees 20,100 | Stationery _ 42,600
Interest on Securities 14,400 | Cash in Hand (31-03-2020) 16,500
Sale proceeds on Old Cupboard.
(NIL Book value) 3,600 | Cash at Bank (31-03-2020) 93,000
591,300 | - 5,91,300

Prepare the Income and Expenditure Account for the club for the year ended
31* March 2020 and the Balance sheet as at that date, having due regard
to the following additional information:

P.T.O.
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(i) Stock of stationery on 31* March 2019 was 23750 and on 31* March
2020 was 2610.
(i) Outstanding salaries for the year amounted to 16500,

(iii) The club has 2160 members paying an annual subscription of ¥250
-each.

(iv) Prepaid Sundry Expenses on 31* March 2019 were 23960.

(v) As on 31* March 2019, Building stood at ¥7;35,000 Computer at
¥30,000 and Investments at ¥1,95,000.

(vi) Depreciate building, sofa and computer at 6%. (12)

(b) How would you deal with the following items while preparing the final accounts

of a social club for the year ending 31* March 2024: ; (6)
Particulars | s z

Prize awarded i 1,40,000
Prize Endowmmt Fund . : 14,00,000

8% Prize Endowment Fund Investment on 1% April 2023 14,00,000
Donation received for prize Endowment Fund 2,00,000
Interest received on Prize EndoMt Fund Investment 84,000

4. (a) Differentiate between Debtors System and Stock and Debtors System under
Branch Accounting. (6)

(b) A head office in Delhi has a branch in Jaipur to which goods are invoiced
by the head office at cost plus 25%. Prepare Branch Account and goods
sent to branch account in the books of head office from the following
particulars: :

Opening Stock ¥25,000; Opening Debtors 224,000; Goods received
from the head office (Delhi) 280,000; Cash Sales 232,000; Cash received
from Debtors 259,000; Goods returned to head office ¥4,000; Cash received
for expenses ¥29,000; Stock at the end ¥30,000; Debtors at the end
¥45,000. (12)
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OR

(a) Ghaziabad head office supplies goods to its branch at Laxmi Nagar, Delhi,
at invoice price, which is cost plus 50%. All cash received by the branch is
remitted to Ghaziabad, and the head office pays all the expenses. From the
following particulars related to Laxmi Nagar for the year 2020, prepare the
Branch Debtors Account, Branch Stock Account, and Branch Adjustment
Account in the books of the head office to find out the gross and net profit

made by the branch. (18)
Balances as on 01.01.2020
Stock with Branch at invoice price j 1,32,000
Branch Debtors _ | 44,000
Branch Petty Cash _ 1,000
Transactions during the year 2020
Goods sent to Branch at invoice price 4,08,000
Retum from Branch to H.O. at invoice price : 12,000
Cash Sales 2,12,000
Credit Sales 1,74,000
Goods Returned by Debtors to the branch 6,000
Allowance to tl}e customer on Selling Price (Already 4.000
adjusted while invoicing) ¢
Cash received from Debtors 1,86,000
Discounts allowed to Debtors 4,800
Cash sent for petty expenses 4,000
Rent (Paid by head office) 4,800
Salaries (Paid by head office) 48,000
Balances as on 31.12.2020 _
Branch Stock at invoice price 1,38,000
Branch Petty Cash _ 200

5. (a) Yogesh Ltd. has three departments: A, B, and C. The foliowing information
is supplied by these departments for the year ended 31 March 2024

E1.O
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Particulars Department A Department B Department C
Purchases (Units) 20,000 40,000 60,000
Sales (Units) 20,800 39,200 61,200
Selling price per - ' .
unit () 21 22 24
Stock at the end 1.600 2.400 2,800
[ Total purchases

during the year < 19,18,000
were

(b)

(a)

case (12)
Explain the finance lease. Also, discuss its types and features. - (6)
. OR

SS Ltd. leased a machine to SV Ltd. on the followiné conditions:

= (8
Fair Value of the Machine 90,00,000
Lease Period 5 Years
Lease Rental 15,(_)0,000 p.a.
Guaranteed Residual Value (GRV) 3,00,000
'Unguaranteed Residual Valye (UGRYV) 5,40,000
Internal Rate of Return | | 15%

Discounting fabtors for 1st year to 5th vear are 0.8696, 0.7561, 0.6575,

0.5718, and 0.4972, respectively. You are required to calculate:

(®)

(1) Gross Investment in Leage (GIL)

(ii) Unearned Finance Income (UFT) -

(12)

What do you mean by Departmental Accounting? Also, state the advantages
of Departmental Accounting. (6)
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1. (a) State the empirical relationship between mean, median and mode for

symmetrical and asymmetrical distributions. Under what circumstances median
is considered to be a better average than Arithmetic Mean? (3)

(b) You are given frequency distribution of wages (in 000 rupees) paid to the
workers in a factory as under :

'Wages(inOOO'?) 20-28 | 28-36 | 36-44 44-52 | 52-60 | 60-68 68 - 76

lﬁu. of Workers 4 12 18 32 16 14 4

Calculate Mean Deviation about Median. (6)

(c) A car manufacturing company facing a dispute with labour decided to make
changes in compensation policies after deliberation with the labour union.
The following table exhibits information before and after settlement:

Before dispute After dispute
No. of workers 2000 1900
Mean wages 650 700
Median Wages 680 650
Standard Deviation S0 1. 40

You are required to compare the position before and after the dispute
settlement in terms of :

(i) Total Wages,
(i) Modal Wages,
(1)) Coefficient of variation

|

(iv) Skewness, and

(v) Also comment on whether employees got benefits out of this settlement
or not. (9)
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(b) Two regression lines showing relationship between Output (Y) and Labour
Hours (X) is as follows :

2Y -X-50=0and 3Y -2X -10=0
You are required to calculate the following :
(i) The mean values of output and labour hours.
(i) Coefficient of correlation between output and labour hours.

(iii) The standard error of estimate f_dr labour hours on output if variance
of output is 4. (9)

OR

(c) XYZ Ltd. wants to understand the relationship between its sales performance
and employee incentives. The HR of the firm collects data from the last 9
months on the total sales (in:thousands of rupees) made by sales
representatives and the total employee incentives (in thousands of rupees)
which are given below :

Incentive ("000 %) 14 POV IS4 =21 W 26 | 22 15 20 | 19

Sales (00000 %) 31 [ 36 [ 48 | 37|50 | 45| 33 | 41| 39

You are required to :
() Compute the coefficient of correlation and the regression coefficients.
(i) Determine the regression equations.
(i) What will be the value of Sales if the incentive is %30,000?

(iv) Determine the standard errors of estimate for incentive on sales and
for sales on incentive. (14)

(d) “Regression analysis is used to find the cause-and-effect relationships whereas
correlation indicates the possibility of association between two variables.”
Do you agree? Explain with relevant examples, (4)
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4. (a) A company collected the sales data over seven years from 2017.to 2023
from the sales department which is given below :

Year 2017 2018 2019 2020 2021 2022 2023
Sales (T crores) 80 90 92 83 94 99 92

You are required to :
(i) Fit a straight-line trend using the method of least square.
(ii) Compute the trend values for the years 2017 through 2023.
(iii)) What is the monthly change in sales?

(iv) Shift the origin to 2023. 9)

(b) With which component of a time series would you mainly associate each of
the following?

(i) Lockout in a factory, delaying production for 15 days
(ii) Sales of a textile firm during Deepawali
(iii) Fall in death rate due to advances in science
(iv) A period of prosperity

(v) A need for increased wheat production due to constant increase in
population (5)

(c) The coefficient of rank correlation of the return and risk of 10 securities was
found to be 0.2. Tt was later discovered that the difference in ranks in return
and risk for one security was wrongly taken as 9 instead of 7. Find the
correct value of the coefficient of rank correlation. (4)

OR

(d) The production of commodities during 2017-2023 is given below :

Year | 2018 | 2019 | 2020 | 2021 | 2022 | 2023

Production

608 Eoatien) W0 e 115 1.8 1 20

BT.O.
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(e)

®

(a)

(b)

You are required to :
(i) Fit a second-degree parabolic trend.
(i) Compute the trend values for the years 2018 through 2023.
(ii) Predict the production for the year 2026. 9)

The linear trend of sales a company is T1300000 in 2023, and it rises by
¥32500 per year. :

You are required to :
() Determine the trend equation.

(i) Convert the annual trend into a monthly trend. (5)

State the properties of regression coefficients. Also, explain the computation
of correlation coefficients from regression coefficients with the help of an
example. 4)

You are provided with the following data on the yearly consumption in a
household for the current year (2023) and base year (2022).

= 2022 2023
Quantity Price Quantity Price
Wheat (Kg) 180 20 190 24
Rice (Kg) 50 35 54 40
Pulses (Kg) - 50 60 53 75
Edible Oil (Liters) 2001577 80 22 85
Sugar (Kg) 40 45 45 48
Cooking Gas (Kg) 50 33 56 36
Clothing (Meters) 60 90 70 96

Compute the cost of living Index number using Laspeyres’, Paasche’s and
Fisher’s methods. 9)

The lifetime of a certain kind of water heater has a mean life of 400 hours
and a standard deviation of 45 hours. Assuming the distribution of lifetime
to be normal, find : :

(i) percentage of water heaters with a lifetime greater than 470 hours,

(i) percentage of water heaters with a lifetime between 385 and 415,
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(c)

d)

(e)

9
(iii) the minimum life of the best 10% of water heaters.

[Given: Table Values of area for Z = 1.56 is 0.4406, Z= 0.33 is 0.1293,
Z=1.29 is 0.4015] ' 9)

OR

The cost-of-living index uses the following weights for a given basket
comprising five commodities :

Food 30, Rent 15, Clothing 10, Fuel 20, Miscellaneous 25. During the
period 2018-2023, the cost-of-living index rises from 100 to 205. Over the
same period, the percentage rise in prices was:

Rent 50, Clothing 160, Fuel 85 and Miscellaneous 180. What is the
percentage change in the price of Food? 9)

A restaurant receives online reviews with ratings following a normal distribution
with an average score of 4 stars (out of 5) and a standard deviation of 0.5
stars. What percentage of customers give ratings above 3.5 stars?

[Given : Table Values of area for Z = 0.5 is 0.1915, Z=11is 0.3413]
(5)

Explain the properties of normal distribution. Discuss conditions under which

a Poisson Distribution tends to be Normal Distribution. (4)

(%) i IR seaie ol @ fow s, wftae ik sges & 99 Svasa 99y

FaTeu T aRRufEY ¥ witae o iy weg | YeR Aed A= o 87
(3)

(@) AR T AR A A W RY W A 3 @ gl fe (000 T #)

forrE fear w2

Tl (000' ) | 20-28 | 28-36 | 36-44 | 44-52 | 52-60 | 60-68 | 68-76

Rt $ g=ar 4 12 18 32 16 14 4

wiftasT & wder wed fges @t woEr S (6)

P10
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